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1. [4 points each] Find % for each of the following, Do NOT simplify your answers,
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4. [3 points] Answer (a) and (b) for the function [ defined below,
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6. Answor (al-{c) with regard to the lunction fz) = T —4.
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10. [6 points] A 15 oot ladder is leaning on a wall of 4 house. The bottom of the ladder i
pulled away from the base of the wall at & constant rate of 2 feet per minute, At what
rote i8 the top of the ladder sliding down the wall when the bottom of the ladder is 5 fiset
from the wall?
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12, [15 points] Answer (a)-(h) with regard to the fnction f{z) = I% The first and
gecond derivatives of Fare given below. ¥
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